
5 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.eu 
  www.rdmoto.eu 

 
 

1 

A6SDM 
Aprilia RSV-4 

 
   Kit for left side :             Kit for right side: 

 

 

 
 

 

 

 

ID. Description Cat.no. Pc 

1 Bolt M10x75mm 1007 2 

2 Bolt M10x65mm 943 1 

3 Dural. roller l=40mm 12 1 

4 Dural. roller l=20,7mm 459 2 

5 Dural. adapter 501 1 

6 Plastic cover M10 X4 2 

7 Bolt M6x20mm 1024 2 

8 Washer M6-flat  1023 2 

9 Dural. adapter for SLDM 537/B 1 

ID. Description Cat.no. Pc 

1 Bolt M10x90mm 880 2 

2 Bolt M10x65mm 943 1 

3 Dural. roller l=40mm 12 1 

4 Dural. roller l=20,7mm 459 2 

5 Dural. adapter 500 1 

6 Plastic cover M10 X4 2 

7 Bolt M6x20mm 1024 2 

8 Washer M6-flat  1023 2 

9 Dural. adapter for SLDM 537/B 1 

1 

1 

2 

2 

3 

3 

4 

4 

5 

5 

6 

6 

7 

7 

8 

8 

9 

9 



5 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.eu 
  www.rdmoto.eu 

 
 

2 

Mounting – left side : 

 

1. Remove the original M10 bolts from the motorcycle frame.  

2. Mount the duralumin adapter (ID.5) on the motorcycle frame (mounting point 

according to the illustration photo below).  

3. Insert the duralumin roller (ID.4) under the duralumin adapter and tighten the 

screws (ID.1). Put plastic caps on the screw heads (ID.6)  

4. Insert the screw (ID.2) through the adapter (ID.9) and duralumin. roller (ID.3), 

screw this set into the duralumin adapter on the motorcycle (ID.5).  

5. Finally, mount the SLDM slider using M6 ID.7 screws and M6 ID.8 washers. 

 

Mounting – right side : 

 

The mounting of the right side is identical to the left side. 

            

Warning – we recommend to use safety glue on threads of all bolts (moderate 

strong – blue colour). 

 

 

 


